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1.  (A) Explaindiffercat objectives of Financial Management.
OR
(i)  Explain the managerial finance functions.
(i) Explain the role of finance manager.
(B) Choose the correct option : (any four)
(1)  The function of finance manageris __
(a) Procurement of finance (by Distribution of the finance
(c) Estimate need of finance  (d)  All of the above
(2) What major changes had been brought to finance function of Traditional
approach ?
(a) Distribution of the finance
(b) Efficient and optimum utilization of finance
(¢) Procurement of finance
(d) Only (a) and (b)
(3) The only feasible purpose of finance Management is
(a) Profit Maximization (b Wealth Maximization
(c) Sales Maximization (d) Asset Maxinuization
(4) What leads to change in rate of return on investments as per the chart given
by Du-Pont ?
(a) Working Capital (b) Fixed Capital
(c) Change in cost of poods sold (d) ~ All of these
(5) During the process of procurement of finance _
(a) Working Capital ratio is considered.
(b) Fixed Capital ratio is considered.
(c) Both(a) and (b)
(d) None of these
(6) Profits remaining after taxes are use four _

2. (A) Discuss concept of “Risk and Retu
of Money".

NE-101

(a) Rcinvestmentin business
(b) Dividend to shareholders
(c) Distribution amongst other stakeholders

(d) Allof these

OR
5
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(i)  You have invested ¥ 1,20.00% re“’uof which is invested in company ABC,
which has a expected ™ cted retm 15% and rest 60% is invested in
company XYZ, with an expco;l Oliou?m of 12%,
What is the return on your P What is the expected percentage rate

of return ? s 7
(i) Explain various types of bo“m: : 7
(B) Choose the correct option : (any fo 4

cific - o :
(1) The value of an asset 00 2 SP‘;t islc date in the future that is equivalent in
value to a specified sum 10d3Y Calleg
(a) Future value (b) Compound value

(c) Present value _ .( ) Time value
(2) The face value of 100 equity shar€is ¥ 100 and market price is ¥ 225. What

will be capital gain ?

.

@ %12,500 ®) 215,000
(¢) 10,000 (d) 235,000
(3) When the national stock exchange Was established 9
(a) 1994 (b) 1990
(c) 1993 (d) 1995
o (4) What is the relation between Pmﬁtahility and risk ?
R= (a) Inverse (b) Positive
g- (c) Absence of relation (d) Al of these
= (5) Inflation occurs when
Eé3 (a) cost of production rise (b) political issues
a. (¢) demands are not satisfied (d) None of these
L.é (6) value is the value today of an amount that would exit in the
© future with a stated investment rate called the discount rate.
= (a) Present value (b) Compound value
(c) Cumulative value (d) Future value

3. (A) Dharati company is considering to invest ¥ 2,70,000 in a capital project.

The expected annual income after depreciation but before tax is as follow : 14
| Year 1 2 3 4
< 1,35,000 | 1,08,000 | 81,000 | 54,000

Depreciation may be taken at 20% as per Written Down Value method. The cost

of Capital 10% p.a. and P.V. of Z 1 at 10% p.a. is given below :
Year | 2 3 4

| Present value (%) 0.909 0.826_ | 0.751 | 0.683-
The company’s pay tax at 40% rate.

Calculate : -
(1) Pay-back-period (2) Accounting rate of return
(3) Net present value (4) P rofitability index
_ . OR
(1) Discuss the factors affecting wc?rklng capital requirement. 7
(i) Describe the principles of working €apital management. 7
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(B) Choose the correct Option -

: (an 3
(1) Certain amount of " Y fhree) o
production process itis Orking capital 18 required for continuity of the
(@) Seasonal | *-——-..____H working capital. -
{c)  Special ®) Pem?a"em
(d) Flexible
(2) is lo : ' ]
outlay. 8 term p]a“mng for making and financing proposed capital
(@)  Worki i
(c; Plor fng capital (b) Capital budget
. anning " (d) Control
(3) . According to . . e
. o - I
than its requir m Policy, percentage of working capital is kept less
(a) Tradiliqnal (b) Aggressive I
(©)  Inter-mediatory (d) None of these
(4) Ratio of working capital 1o current liabilities should be ___
(a) 3:1 (b) 2:1
(5)  The present value of return on accepted proposal must be - the cost
of capital of firm, _ ,
(a) lessthan - (b) equal to
(c)  more than (d) rcasonable than-
4. (A) Discuss ‘Net Income Approach’ of Capital structure and find out leverages from
the following :
14
Equity share capital (ea;:_h of T10) . %12,00,000
Sales < 20,00,000-
10% Debentures - , ) 74,00,000
Fixed Operating expenses -~ ¥ 1,60,000
Rate of tax ' B 40%
Variable Operating expenses 60% of sales
Calculate :
(1) Operating Leverage (2) Financial Leverage
(3) Combined Leverage (4) Earnings per share
OR _
(i)  Explain preference share with new provisions. 7
NE-101 7 P.T.O
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(ii) _The Balance Sheet of a company as on 31-03-2019 is as under : ' 7
Liabilities > Assets ' X
Equity Capital (2 10 each) | 140,000 | Fixed Assets 2,40,000
Reserves : 60,000 | Current Assets 2,20,000
10% Preference Capital 40,000

(R 100 each)
14% Debentures (¥ 100 1,60,000
each)

Currert Liabilities 60,000 |
4,60,000 4,60,000

Additional information :
(1) The cost of equity capital iS 16% and the cost of reserves 15%.
(2) The average market prices as under : '

Equity shares ¥ 16, Preference share 2 70 and Debentures ¥ 80.
(3) Taxrateis 50%.
Calculate the following :
(1) Weighted average cost of capital under the book value. .

(2) Weighted average cost of capital under the market value. Q

.

(B) Choose the correct option : (any three) 3 5
(1) B Ltd. issued 10% preference share of T 100 each. The floatation cost is N
estimated at 5%. What would be the cost of capital 7 - =l

(@) 9.53% (b) 10% &

(c) 10.53% (d) 15% 9

=

NE-101

(2)

(3)

S

(5)

According to Companics Act, the dividend should be paid within

days after declaring it.

(a) 21 (b) 30

(c) 42 (d) 50

The level at which total operating expenses are equal to the amount of total
interest is called
(a) Break-even financial leverage (b) Financial leverage

(¢) Break-even combined leverage (d) None of these

According to Net Income Approach, with constant increase in leverage the

value of firm __ ‘
(@) Decreases (b) Fixed

() Increases (d) Zero
Retained earnings is a fund without _

(a) Discount (b) Cost

(c) Interest (d) Premium
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Instruction : Marks are indicated on the right side

1. (A) Discuss on the structure of Indian Fipancial System

(B)
2. (A)
NE-101

OR
Explain :
(1) Designs of Financial System, .
(2) Financial System and Economjc Growth.

Select correct answer : o
(1) Money market is liquid market.

(a] - Highly () Lowly
(¢) Middle _ . !{d} Zerq iyl

(2) are intermediaries in Financial System.
(a) Financial Markets (b) Financial Institutions
(c) Financial Services (d) Financial Instruments

(3) RBIcontrols __market.
(a) Capital (b) Money
(c) Share (d) Financial

(4) Financial intermediaries are producers of
(a) Instruments (b) Services’ |
(c) Markets (dy None of these

Discuss on the functi
OR

Explain :
(1) Treasury Bill
(2) Call Money
11
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ons and best characteristics of money market.
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3. (A)

(B)

4, (A)

(B)

NE-101
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' irs ; 4
e l::-l:) ‘;z::r;lment - (B) Maturity Period
(a) Certificate of Deposit (1) 1 day 1o fortnight
(b) Call Money 2) 3'months 1o [ year
(c) Treasury Bill (3) 3 months to 6 months
(d) Commercial Bill (4) 1 day or 24 hours
(5) " Only 3 months
(6) 14 days to 364 days
Discuss on reforms of Indian Capital Market, 14
OB ’ §
Explain :
(1) Functions of Capital Matket 7
(2) Role of SEBI in Capital Market 7
Select correct answer : 3
(1) Fullformof ECBs=___——-
(a) European Convertible Bonds
(b} Euro Convertible Bonds
(c) Euro Conversion Bonds a
(d) European Conversion Bonds =3
(2)  GDRs are listed inthe .. §
(a) Bombay Stock Exchange (b) European Stock Exchange =
(c) National Stock Exchange  (d) Britain Stock Exchange a
(3) IPO is offering by an company. L%
(a) Private (b) Public -
(c) Listed (d) Unlisted g
Discuss on Listing of securities. 14
OR
Explain :
(1) Stock Market Index 7
(2) _Functions of Secondary Market 7
Select cortect answer : 3 =
(1) Base year of Sensex = . .
 (a) 197879 (b) 1979-80
(c) 1977-78 (d) 1981-82
(2) -E-lrstablli_shmer_l,l year of Bombay Stock Exchange = __ :
(a) 1885 (b) 1890
() 1857 ) 1875 <
(3) Currently rolling settlement cycle = , .
(@ T+5 (b) T+3 GujaratStudy.com
() T+2 d) T+4 Whatsapp @ 9300930012
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